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QUESTION 1
Which of the following is not a Scrum cycle activity?

A

B
C
D

. Sprint retrospective
. Daily scrum

. Weekly inspection

. Sprint planning

Correct Answer: C

QUESTION 2
Which of the following statements best describes Product Backlog items?

A.

Undefined or poorly defined Product Backlog items should be placed on the
Product Backlog with a low priority

All Product Backlog items are the result of a(n) analysis, requirements and/or design
phase(s).

Undefined or poorly defined Product Backlog items should be kept out from the
Product Backlog until sufficient detail is known.

. Every Product Backlog item, whether low priority or high priority, should possess
sufficient detail for the Team to complete in a Sprint.

Correct Answer: A

QUESTION 3

constitute the Sprint Backlog and are often estimated in hours?

. User Stories
. Use Cases

. Features
. Tasks

Correct Answer: D
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QUESTION 4
Under what circumstances should separate Product Backlogs be maintained?

A. There are several Product Owners for one product. Each Product Owner should
have their own Product Backlog

B. There are multiple teams working on independent products. Each unique
combination of team and product should have an independent Product
Backlog

C. There are multiple product features being developed by the sameteam.

D. There are multi%)le teams working on the components of the same product.
Each team should an independent Product Backlog

Correct Answer: B

QUESTION 5

Who determines whether the development team has been assigned enough work in a
Sprint?

A. The Development Team

B. The Product Owner

C. The Product Owner and the Scrum Master
D. The Scrum Master

Correct Answer: A

QUESTION 6

What is the maximum amount of time that the team should spend in the daily scrum?
A. Aslong as it takes

1 hour

45 minutes

15 minutes

mo o w

15 minutes, proportionally less for shorter Sprints
Correct Answer: D

QUESTION 7
Please select which statement is the most accurate:
A. Agile Development is an implementation of Scrum.

B. Scrum is an implementation of Agile Development



C
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. Agile Development and Scrum are synonyms for the same methodology.

. Agile Development and Scrum are contrasting methodologies.

Correct Answer: B

QUESTION 8
Which of the following is not a Product Owner responsibility?

A

B
C
D

. Running the daily scrum meeting
. Working with stakeholders to determine and detail product features.
. Gathering requirements for Product Backlogitems

. Inspecting work at Sprint Review

Correct Answer: A

QUESTION 9
How should items in the Product Backlog be ordered?

A
B.

C.

D.

Alphabetically first and then by list order in the ProductBacklog

Grouped by business features first and then chronologically by date of original
business request

Prioritized by business importance first. The items that result in biggest ROI, must be
prioritized first;

Chronologically by date of original business request first and then by list order in the
Product Backlog

Correct Answer: C

QUESTION 10

Which of the following is a role in the Scrum framework?

A

B
C
D

. Database Admin
. Development Team
. QA Tester

. Senior Developer



